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ACCOUNTANCY F
UNTANCY  Fyr g FRRT o hares ; -

Part - A
se the Correct Answer
i 20 x1 =20
. oh of the foll elati -
Which 0 owing items 1¢1at1ng to bills payable is transferred to total creditors

g) Opening balance of bills payable b) Closing balance of bills payable

c) Bills payable accepted during the year  d) Cash paid for bills payable
which one of the following item is not a method/tood of analysis of financial

statements?
a) Trend Analysis
¢) Cash Flow Statement .

b) Statement of Affairs
d) Comparative Statements

ponations received for a SPeCific PULPOSE IS cevvvvrre
b) Capital Receipt
d) Capital Expenditure

100 as annual subscription. Sub
ption received in

a) Revenue Receipt
c) Revenue expenditure

There are 500 members in a club each paying Rs.
scription due but not received for the current years is Rs.200; Subscri
ind out the amount of subscription to be shown in the income

advance 18 Rs.300. F1

and expenditure account. e A |
a) Rs.50,000 b) Rs.50,200 c) 49,999 d) 49,800
Match List I with List {I and select the correct _ansWer using the podes given below :

List I | Listll
(i) Sacrificing ratio ok Investment fluctuation fund
(ii) Old profit sharing ratio 2. Accuml.llated profit
(i) Revaluation Account 3. Goodwill

4. Unrecorded liability

(iv) Capital Account

Codes : :
gyl 2 3 als:
AU ;

4.3 D
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ne is not true regarding partnership firm ;

From the following statement(s) which o

ent accounts are opened f,
1. When fixed capital method is adopted by a firm, ey el

' rtner.
each partner apart from the capital account of each pa

: d and capitalisation ¢
. Goodwill based on capitalisation of average profit metho , P fsu

iy .4 - ill.
per profit method will give the same amount of goodwil

‘ . h .
. When the new partner brings only a part of the goodwill 1n cash, we should cregit

New Partner’s capital A/c

. On admission of a partner, the accumulated profits, accumulaft‘fd I}I’SS?Z anc% reserves
before admission are to be distributed to the existing partners inthe old ratio.

a) 1 Only - b) 2 Only ¢) 3 Only d) Above all

A, B and C are partners sharing profits in the ratio of 4:2:3. C retires. The new profit
sharing ratio between A and B will be '
a) 4:3 | b) 3:4 | o2l d) 1:27

‘A’ was a partner in a partnership firm. He died on 31st March 2019. The final
amount due to him is 25,000 which is not paid immediately. It will be transferred to
a) A’s capital account b) A’s current account

c) A’s Executor account d) A’s Executor loan account

Which of the following is the incorrect pair?

a) Interest on drawings - Debited to capital account
b) Interest on capital - Credited to capital account
¢) Interest on loan - Deited to capital account

d) Share of profit - Credited to capital account

. In the absence of an agreement, partners are entitled to
a) Salary b) Commission c) Interest on loan d) Interest of capital

. Book profit 0f 2017 is Rs.35,000; non-recurring income included in the profit is

Rs.1,000 and abnormal loss charged in the year 2017 was Rs.2,000, then the adjusted
profit is |

a) Rs.36,000 b) Rs.35,000 c) Rs.38,000 d) Rs.34,000

. If the credit side of the receipts and payments account exceeds the debit side the
balance represents : .

a) Bank charges  b) Commission c¢) Bank overdraft d) Interest .
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: Match the pair an‘d identify the copy
o ) Under subscription -
2) Over subscription
3) Calls in arrear

4) Calls in advance (iv) Amount unp
A O G i) )
®) v GiD) ) G
© G @ @) G
® G @) @ i)
~ Supreme Ltd. forfeited 100 shares of Rs.
per share. All these shares were re-issue
transferred to capital reserve account?
2) Rs.700 | b) Rs.800 c) Rs.900

. Which one of the following item is ﬂot a correct :
Total purchases = Cash purchases + Credit purchases
Share gained = New share + Old share

When the number of shares subscribed is less that the number of shares offered, it
is known as over subscription.

Trend analysis refers to the study of movement of figures over a period.
Only b) 2 Only - c) 2,3 Only d) 3,4 Only

www.TrbTnpsc.com

cct option

(1) Amount Prepaid for cal]
(it) Subscription
(i1i) Subscription

S
above the offered shares

below the offered shares
aid on callg

-

10 each for non-payment of final call of Rs.2
d at Rs.9 per share, What amount will be

d) Rs.1,000

4

a) 1
. The term ‘fund’ refers to

a) Current liabilities
¢) Fixed assets

. To test the liquidity of a concern, which of the following ratios are useful?

b) Working capital
d) Non-current assets
(iii) Debt-equity ratio

a) Quick ratio b) Net profit ratio - (iv) Current ratio

Select the correct answer using the codes given Pelow
a) (i) and (ii) b) (i) and (iv) (c) (ii) and (iii)

. Which one of the following is not correctly matched?

(d) (ii) and (iv)

a) Liquid ratio - Proportion
¢) Fixed assets turnover ratio -Percentage

- In which voucher type credit purchase of fu

a) Receipt Voucher
- ©) Purchase Voucher

+ Which of the following options isusedto v
a) Gateway of Tally -> Reports > Trial Bal
b) Gateway of Tally -> T rial Balance.

C) Gateway of Tally -> Reports -~ Dlsplay

b) Gross profit ratio - Percentage
d) Debt-equity ratio - Proportion
rniture is recorded in Tally

b) Journal Voucher
d) Payment Voucher

iew Trial Balance from Gateway of Tally?
ance

.> Trial Balance

d) None of thisisdly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com
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Part - B
7)(2:::14

Question No.30 is compulsory.

What is meant by incomplete records?

g oy ; —-— f a sports club?
How will the following items appear in the final accounts of a spo

‘Do 1
Particulars Rs.

——
Stock of sports materials (01.04.2018) L
Sports materials purchases during current year 9009
Sale of old sports materials during current year 500

Stock of sports materials (31.03.2019) 2 4000

. Jayaraman is a partner who withdrew Rs.10,000 régularly in the middle of every month,

Interest is charged on the drawings at 6% per annum. Calculate interest on drawings for
the year ended 31st December, 2018.

State any two c1rcumstances under Wthh goodwill of a partnership firm: is valued

. What is sacrificing ration?

. Vivin, Hari and Joy are partnérs sharing profits and losses int he ratio of 3:2:1. On
31.3.2017, Hari retired. On the date of retirement, the books of the firm showed a
general reserve of Rs.60,000. Pass the journal entry to transfer the general reserve.

. Anitha was holding 500 equity shares of Rs.10 each of Thanj avur Motors Ltd, issued at

par. She paid Rs.3 on application, Rs.5 on allotment but could not pay the first and
finlal call of Rs.2. The directors forfeited the shares for non payment of call money.
Give J ournal entry for forfeiture of shares.

. State any five accounting reports.

. Calculate quick ratio : Total current hablhtles Rs.2,40,000; Total current assets

Rs. 4 50,000, Inventories Rs. 70 ,000; Prepald €Xpenses Rs.20.000. "

. From the followmg partlculars preépare comparative i Income statement of Tharun Co. Ltd.

- 2016-17 2017-18
Rs. Rs.
2,00,000 2,50,000

50,000 40,000
1,50,000 1,20,000

- Particulars

Revenue from operations

Other income

Expenses

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

32
33.
34,
35.

36.

37,

3%,

www.Padasalai.Net www.TrbTnpsc.com

| Part . ¢
Answer any sevep Questiong
Question No.40 js Compulsory 7x3=21
. From the following Particylarg calculate tota] ,
[ Particularg .\T\Purchaseg,
| ~ S ' S
L] — —— e Particulay
Sundry creditors on 15t , \\\S\ =
January, 20202 ’
|~ . M Purchases retyrng 15,000
Bills payable on 1st J anuary, 25,000 | Cagh purchase
gl S 2,25.000
Paid cash to creditors 1,20,000 Creditors on 31t 25,000
| , December, 2022
, : B e e e e WU,
Paid for bills payable 30,090 Bills payable on 31st- 20,000
December, 2022

' : -ch, 2
Statement for the year ended 315t Mar

List down any six CXpenses relevant for a recreation club.

State the differences between fixed capital method and fluctuating capital method.
Explain any three,applications of computerised accounting system.

Abarna and Priya are partners sharing profits and losses in the ratio of 5:4. They admit
Brindha into partnership for 1/3 share of profit. Brindha pays cash Rs.6,000 tc.)wa;rds
her share of goodwill. The new ratio is 3:2:1. Pass'necessa.ry journal entry for adjusting
goodwill on the assumption that the fixed capital method is followed.

Rajan Ltd purchased machinery of Rs.6,00,000 from j‘agan Traders. It issued equity
shares of I{S 10 each fully paid in satisfaction of their claim. What entries will be made
if such issue is made : » . -

(@) ata premium of 50%

e - fits in the ratio of 1/2, 1/4 and 1/4
‘ i nar are partners sharing pro . .
e, 'Ralv : a;zd K?Irlzirr:s ar?d his share is taken up by Navin and Ravi equally. Calcu
Iespectively. Kuma , v i E WY
late the new profit sharing ratio and gamning

| +iculars of mani Itd an Kani Ltd prepare a common-size income
From the following particular i .

| | Mani Ltd (Rs.) | Kani Ltd (Rs.)

Particulars _
2,00,000 2,50,000

Revenue from operation® ‘ 30,000 25,000

_____.—-——-/'———- ]

Other income """, 500 1,25,000
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39. Calculate operating profit ratio under the following cases-

Case 1 : Revenue from operations Rs.8,00,000. Operatin.g pro
Case 1 : Revenue from operations Rs.20,00,000. Operatingp e
\e value of goodwill by capitalisation

fit Rs.2,00,000.
fit Rs.14,00,000

40. From the following information, find out t!
method :
a) Average profit = Rs.60,000
b) Normal rate of return = 10%
¢) Capital employed = Rs.4,50,000

Part - IV
Il. Answer all questions 7x5=35
Question No.40 is compulsory.
41. a) From the following particulars, calculate total sales.
Particulars Rs. Particulars Rs.
Debtors on 01.04.2018 2,50,000 | Bills receivable 15,000
dishounoured
Bills receivable 01.04.2018 | 60,000 | Returns inward 50,000
Cash received from debtors | 7,25,000 | Bills Receivable on 90,000
| ' 31.3.2019
Cash Received for B/R 1,60,000 | Debtors on 31.3.2019 2,40,000
Bad debts 30,000 | Cash Sales 3,15,000

b) Radha Ltd. Issued Rs.25,000 equity shares of Rs.10 each to the public at par. The
details of the amount payable on the shares are as follows.

On application Rs.3
On allotment Rs.4
On first and final call Rs.3

Application money was received on Rs.35,000 shares. Excess application money was
refunded immediately. Pass journal entries to record the above.
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y. ») Rajv doss notkeep proper hogi o o ,
records counts, Fo|

\
| Cash at Bank | 1-1.2018 | 31.12 2018

80,000 | oo onn

Stock of goods 90,000
ebtors =il

M“_ﬁ'—*—
1,40,000
Sundry creditors 90,000 | 2,00,000

| Bank loan ———— 230,000 | 1,95000 |

W 60,000 60,000

S———— | 80,000 ’
Plant and machinery 1,70,000 | 1 i’z ggg
puring the year he introduced further capital of Rs.50,000 and withdrew Rs.2,500 per month

from the.busmess for his personal use. Prepare Statement of profit or loss with the above
informat1on.

OWing details are taken from his

(or)
b) Sai and Shankar are partners, sharing profits and losses in the ratio of 5:3. The
firms’s balance sheet as on 31st December, 2017, was as follows.

p—

Liabilities Rs. Rs. Assets - Rs. Rs.

Capital accounts : Buildings 34,000
Sai . Furniture 6,000
Shankar 88,000 | Investments ' 20,000
Creditors 37,000 | Debtors =
Outstanding wages 8,000 | Less : Provision for bad 37,000

Debts B 12,000

Bills receivables 16,000

Stock 8,000

Bank

1,33,000 ' 1,33,000

On 31st December, 2017 Shanmugam was admitted into the partnership for Y4 share of
profit with Rs.12,000 as capital subject to the following adjustments. |

a) Furniture is to be revalued at Rs.5,000 and building is to be revalued at Rs.50,000

b) Provision for doubtful debts 1s to be increased to RS.S,S‘OO
¢) An unrecorded investment of Rs.6,000 is to be brought into account

d) An unrecorded liability Rs.2,500 has to be recorded now.

Pass Journal entries and prepare Revaluation Account and capital account of partners
a 5
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43. a) Jenifer Ltd., Issued 10,000 equity shares of Rs.10 each at per p?};;iz Zﬁ;ﬁilicanon
Rs.3 per share, on allotment Rs.3 per share, on fifst call Rs.? pz i €cong
and final call Rs.2 per share. The issue was fully subscribe Sarlljbu who ?n'loullts
were duly received with the exception of 100 shax:es held by. u dt; = ailed ¢,
pay the second and final call. His shares were forfeited and reissued to Hema at Rs7
per share. Journalise the above transactions.

(or)
From the following receipts and paymént account of Trichy recreation club, Prepare
Income and Expenditure account for the year ended 31.03.2018. T,
Receipts : | Rs. Payments . L

To opening balance cash 11,000 | By Furniture purchase 10,000

To Dividend received 127,600 | By Rent ‘ 2,800

To Sale of old newspaper 3,000 | By Secretary’s honorarium 15,000

o — ]

To Members subscripﬁon .| 38,000 | By postage L@L
To Lécker rent . 1,000 | By General Expenses 4350
- To Interest in investment 1,250 | By Printing and stationary 45,000
To Sale of furniture. 5,000 | By Audit fees | 5,000
(Book Value 4,400) | By Closing balance cash | 3,000

86,450 ' 86,450

44. a) From the following balance shéets of Subha and Sudha who share profits and losses
in 2:3, calculate the interest on capital at 5% p.a. for the year ending 31st Dec, 2018.

Balance sheet as on 31st Dec 2018

" Liabilities Rs. Rs. | Assets Rs.

Capital accounts | [Fixed Assets 70,000
Subha

Sudha | 1,00,000

Current assets _ " 50,000

Current Liabilities , 20,000

1,20,000 | 1,20,000

Drawings of Subha ang Sudha during the year were Rs:8,000 and Rs.10,000
respectively. Profit earned during the year was Rs.30,000. :

(or)
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{. What are accounting reports?
2. Mention the Commonly yged voucher

- . Ypes in Ts .
y From the following particulars, caley Tally. ERP.9,

By — ate the treng percentages of babu L.td.
Particulars . In Thousands \
Year Year \ Year
L ) 2 3
{, EQUITY AND LIABILITIES (

Shareholder’s Fund

Share capital

Reserves and surplus ' 1(;(()) ]?’)Z) 122
Non_current liabilities : Long-term borrowings - 70 77 84 -

1. Current Liabilities : Trade payables 20 30 40 |
Total | 220 | 264 | 275 |
II. ASSETS
Non_current assets

a) Fixed assets’ | 100 118 103

b) Non_current Inventories 40 50 60
1. Current assets

Inventories 60 66 12

Cash and cash equivalents 20 30 40
Total 220 264 l 275

b) Arulappan and Nallasamy are partners in a firm sharing profits and losses in the ratio

of4:1. On 1st January 2018, their capitals were Rs.20,000 and Rs.10,000 respectively.
The partnership deed specifies the following : | |

2) Interest on capital is to be allowed at 5% per annum.

b) Interest on drawings charges to Arulappan and Nallasamy are Rs.200 and Rs.300
respectively. ' |

¢) The net profit of the firm before considering interest on capital and interest on
drawings amounted to rs.18,000

Give necessary journal entries and prepare Pro

the year ending 31st December 201 8. Assume that

fit and Loss appropriation account for
the capital are fluctuating.
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r Ltd. Ason 31.03.2019 calculate

46. a) From the following Balance Sheet of Kuma earing ratio.

iy Capital
(i) Debt-equity ratio (ii) Proprietary ratio (iil) Capital &

2019
Balance Sheet of Kumar Ltd., as on 31-03
SRS Amount (Rs_)

e——— \

Particulars

I. Equity and Liabilities
1. Shareholders’ Fund
a) Share capital
Equity share capital
6% Preference share capital

3

2,50,000
2,00,000

1,50,
b) Reserve and surplus U0

2. Non-current liabilities
Long-term borrowings (8% Debentures)
3. Current Liabilities
Short-term borrowings from banks £100,000
Trade payables - | 90,00

Total 12,00,000
II. Assets
1. Non-current Assets

a) Fixed assets | 8,00, 000
2.Current assets : '

3,00,000

a) Inventories . | 1,20,000
b) Trade receivables ; 2,65,000
c) Cash and Cash equivalents 10,000
d) Other current assets

Expenses paid in advance 5,000

tal |
Tota _ 12,00,0004

46. b) Differentiate Sacrificing ratio and Gaining ratio.

47. a) Find out the value of goodwill by capitalisiﬁg super profits.
a) Normal Rate of Return 10%
b) Profits for the last four years are Rs.30,000, Rs.40,000, Rs 50.000 and Rs.45,000

c) a non-recurring income of Rs.3,000 is included in the above mentioned profit of
Rs.30,000

d) average capital employed is Rs.3,00,000
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(or)
Partnerg

p) Saran, Arun and Karap are ;
Ina ﬁrm S .
as on 3]st haring profits and loses in the ratio of

4:3:3. Their balance sheet

Liabilities R. | ge ] Wi
Capital accounts *\\E\ﬁ%}i__ Rs. Rs.
Saran 60,000 uildings 60,000
Arun 50,000 - Il\n'lachinery , 40,000
; 1vestments
aran | ,000
Kl R 2001150000 oo iz 000
Genj;; Cr:;;we 15,000 (Debtorg 25,000 |
o | o ‘?5’000 Less : Provision | 1,000
| for bad debs. - 24,000
Cash in hand 44,000
2,00,000 2,00,000

Karan retires on 1.1.2017, subject the following conditions.

1. Goodwill of the firm is valued at Rs.21,000.

2. Machinery to be appreciated by 10%

3. Building to be valued at Rs.80,000"

4. Provision for bad debts to be raised to Rs.2,000.

5. Stock to be depreciated by Rs.2,000 not yet recorded.
6. Final amount due to Karan is not paid immediately.

Prepare the necessary ledger accounts and show the balance sheet of the firm after

retirement.

g TAMILKUMARAN, Per- iompm;zq-a:;
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